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1.

W.rite your RoJj No. on the top immediately on receipt of
this question Paper

Thi . .
his questiop Daper contains three sections.

Attempt any tw, questions from each section.

. d
Use of non‘programmable scientific calculators an

Statisticg] tableg g permitted'

® Let Liang 1 pe two streight lines in a plane. TB"
€
2

h
Write dowy all possibl® values of L, N L,. (5%)

p.T.O.
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(b) Suppose that .
only dried lenti] . g ar s 4
. s and dried soyabeal N 25
«::ivallable for Rahul’s daily requir:men?zor prj('; rein whicl (c) Prove that & +¢ 2’-(1+§+ a tel ) (5%)
18 7
PrOt:ioiram: | gram of lentil ¢optajns 0.26 gra™ 0
and 1 1
Protein, Let p; Sram soyabean contains 0.35 £r3% ° 3. (a) Differentiate
and et his daily Consumption be x grams of lentils >-
rel Y grams of Soyabean. Formu]ate equation giving (i) »° logx + x*
ation between x any y (5%)
(C) The siz .
¢ of ) . e
approaxim : s.low1y growing bacteria culturé ** @) Toax (5%)
is the sizeately Eiven by N(t) = N, + 52¢ + 272, wher¢ N g .
growth at=0 and ¢ js time in hours. Find the |
rate wh . ) d2 .
€n time is 5 hours (51/2) } that y g
ous () If y=e¢ cosx, prove E—k sin x=0 (5%)
2. (2) Write fipg, five tern - .
formulae S 0f the sequence given by recursi (©) Evaluste
:
“=ha, <4, 1 i‘ L (tan2x
i aﬁZ‘"“’ (5%) 1 @ I sec2x
( ) Flnd the fol
OWing Jimits ) 1+ xlog% )
: ‘ i) | > T x (5%)
(i) li.mH°° 3+5,2 ‘
N4 p2 | . SECTION .
@ lim, 20 | .
n o !
3’l+l (5 1/2) 1 —1 _ ], fmd
. 4. (a) LetA= ) ,B= 3 -1 (A+B)2 )
P.T.O.
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(b) Find
(3]
values of x, Section III

€quation, ::y, 2, w which satisfy matrit
' the mean and standard deviation of the given

(a) Calculate
21, 22, 23, 24, 25, 26, 27 €)

data: 18, 19, 20,

va Zrx| [1 -1 |
X+ = g . .
Y z+w| |2 1] (6) (b) For a moderately skewed distribution, the arithmetic
mean is 100, coefficient of variation is 35 and Karl

Pearson’s coefficient of skewness is 0.2. Find the mode

5. (a) Fi
nd the ,
ma .
transformatiolfse uOf‘ Pomt (-2, 2) under the following and median. (&)
. SIHg matrj .. . ) .
@ Contractj trix multiplication 8. (a) Calculate the coefficient of correlation for the following
(ii) ref| 0 B 2 seale factor 1/2. data :
ection :
Ction ip °I'igin' . © - " ) ) 4 p p . s
v | 12|35 14117 16| 19] 18

(wmA=[0 ﬂ
-2 , A :
5 ﬁnd k so that kA% = SA — 6 L. &) f (5)

(b) Fit a straight 1in€ to ﬂ.le following data taking y 28

6. (a) It £ |
f(x) =
(®) = y2 _ 5x 31 dependent variable
*7and A = [ , find f(A). (5) 4 <
-1 2 x1T11z12 |12
r |y |[3{s|® pAK ®
1
12 .
3 T 2 : L
() For 4 _ | 2 f -3 9. (a) A problem in Statisti®® 8 fl\.'en to three students A, B
g » g01V1 :
| 3 3 2| find it’s transpose. Also verify C whose chances °f spmbng‘ it are 1/2, 1/3, 1/4
| 2, respectively, What is % ability that the proble® '*
‘ 23 ::?1 ] solved? ? )
j hat A AT .
p.T.O-

(6)

p—
-
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(b) Suppose that 8% of people are left handed, find the
probability that 2 or more out of 25 are left handed.
Assume that the distribution is a Poisson distribution.

)

10. (a) For a normal distribution with mean 12 and standard
deviation 4. Find the Probabilities:.

(i) P(X = 20)

(i) P(X < 12) 5

(b) Hearing levels in two groyng of sop, ‘
' ool chi th

normal hearing in frequency of ol children wi

S
was found as follows: 00 Cycles per second '.
e ——— i
No. of children Hear: .
*"Ig threshotd | sp |
. | (dB) )
Group 1 62 F\
Group II| 76 20

T 7.1
Test whetehr thepe j5 a0y differey,

e .
levels in two 8roups at 5% level of N ef""’een hearing
N ‘8nificance, (5)

(100)




